| Efficiency vs Dxy |
>0.01,
x N N N N N N N N N

o : 5 5 : : 5 5 : 5
@OQ9--i-ereieeef: T o T S o

0] SRR | SN SRS S SR RS S N
o T R A A
O el LS S 0 S A
© Foo : : : : : : : :
OO e s S S
R s
L7 S A e
B 1 A

0002 o f b
000
o+

Rat
=
!

L acE SRt T

098 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mkFit_TT_baseR3_noSel_ok
| Efficiency vs Dz | —— DQM_mKFit_TT_base_8iter_noSel_ok

—— DQM_mkFit_TT_Retrainv2_8iter_noSel_ok
%10.01 ; : . .

(0]
F
&)

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


